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𝑠𝑖𝑛𝐴
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𝑏
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𝑁𝑜𝑡𝑖𝑐𝑒:  𝑈𝑠𝑒 𝑡ℎ𝑒 𝑆𝑖𝑛𝑒 𝐿𝑎𝑤 𝑖𝑓 𝑦𝑜𝑢 ℎ𝑎𝑣𝑒:

−𝐴𝑛 𝑜𝑝𝑝𝑜𝑠𝑖𝑡𝑒 𝑝𝑎𝑖𝑟
−𝐴𝑛𝑑 𝑜𝑛𝑒 𝑜𝑡ℎ𝑒𝑟 𝑝𝑖𝑒𝑐𝑒 𝑜𝑓 𝑖𝑛𝑓𝑜𝑟𝑚𝑎𝑡𝑖𝑜𝑛   

       

          
𝑠𝑖𝑛𝐴

𝑎
⎯⎯⎯⎯ =

𝑠𝑖𝑛𝐵

𝑏
⎯⎯⎯⎯

         
sin (30)

10
⎯⎯⎯⎯⎯⎯⎯=

𝑠𝑖𝑛𝐵

7
⎯⎯⎯⎯

            0.05 =
𝑠𝑖𝑛𝐵

7
⎯⎯⎯⎯

      7 × .05 =
𝑠𝑖𝑛𝐵

7
⎯⎯⎯⎯ × 7

           0.35 = sinB 
            sinB = 0.35
                  B = sinିଵ(0.35)
                 𝐵 = 20.5௢

Remember: If you have 2 angles without either opposite side,  use 180௢ in a triangle.
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38௢ 

51௢ 

                        
𝑎

𝑠𝑖𝑛𝐴
⎯⎯⎯⎯ =

𝑐

𝑠𝑖𝑛𝐶
⎯⎯⎯⎯

                   
4

𝑠𝑖𝑛38௢⎯⎯⎯⎯⎯⎯=
𝑐

𝑠𝑖𝑛51௢⎯⎯⎯⎯⎯⎯

                     6.497 =
𝑐

0.777
⎯⎯⎯⎯⎯

    0.777 × 6.497 =
𝑐

0.777
⎯⎯⎯⎯⎯× 0.777

                     5.048 = 𝑐

                              𝑐 = 5.048

𝑂𝑝𝑝𝑜𝑠𝑖𝑡𝑒
   𝑃𝑎𝑖𝑟

(𝑡𝑜 𝑓𝑖𝑛𝑑 𝑎 𝑠𝑖𝑑𝑒) (𝑡𝑜 𝑓𝑖𝑛𝑑 𝑎𝑛 𝑎𝑛𝑔𝑙𝑒)

𝑊ℎ𝑎𝑡 𝑦𝑜𝑢 𝑎𝑟𝑒 𝑙𝑜𝑜𝑘𝑖𝑛𝑔 𝑓𝑜𝑟
 𝑔𝑜𝑒𝑠 𝑜𝑛 𝑡𝑜𝑝 𝑏𝑢𝑡 𝑎𝑙𝑔𝑒𝑏𝑟𝑎
 𝑎𝑙𝑙𝑜𝑤𝑠 𝑦𝑜𝑢 𝑡𝑜 𝑑𝑜 𝑒𝑖𝑡ℎ𝑒𝑟 

  
𝑎

𝑠𝑖𝑛𝐴
⎯⎯⎯⎯ =

𝑐

𝑠𝑖𝑛𝐶
⎯⎯⎯⎯

𝑎𝑠𝑖𝑛𝐶

𝑠𝑖𝑛𝐴
⎯⎯⎯⎯⎯ = 𝑐

180௢ 𝑖𝑛 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒

Remember: We only 𝑠𝑖𝑛 angles.

Or: 180 Minus
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Solve the triangle with side lengths of 6 m and 10 m, and an angle of 𝟓𝟕𝒐.

106

           𝑠𝑖𝑛𝜃 =
𝑂

𝐻
⎯⎯

       𝑠𝑖𝑛57௢ =
ℎ

6
⎯⎯

6 × 𝑠𝑖𝑛57௢ =
ℎ

6
⎯⎯× 6

     6𝑠𝑖𝑛57௢ = ℎ
             5.03 = ℎ
                  ℎ = 5.03

10
6

57௢

AC

B

ℎ

             𝑐𝑜𝑠𝜃 =
𝐴

𝐻
⎯⎯

        𝑐𝑜𝑠57௢ =
𝑥

6
⎯⎯

6 × 𝑐𝑜𝑠57௢ =
𝑥

6
⎯⎯× 6

     6𝑐𝑜𝑠57௢ = 𝑥
             3.27 = 𝑥
                   𝑥 = 3.27

6

57௢

C

ℎ = 5.03

𝑥 = 3.27
A

ℎ = 5.03

57௢

𝛼 𝛽

𝛼 = 180௢ − (57௢ + 90௢)
𝛼 = 180௢ − 147௢

𝛼 = 33௢

𝛽 = 180௢ − (30.2௢ + 90௢)
𝛽 = 180௢ − 120.2௢

𝛽 = 59.8௢

𝐵 = 𝛼 + 𝛽
     = 33௢ + 59.8௢

     = 92.8௢

11.91

6

57௢

92.8௢

30.2௢

10

b

10

𝑠𝑖𝑛𝜃 =
𝑂

𝐻
⎯⎯

𝑠𝑖𝑛𝜃 =
5.03

10
⎯⎯⎯⎯

𝑠𝑖𝑛𝜃 = 0.503
𝜃 = sinିଵ 0.503
𝜃 = 30.2௢

30.2௢

           𝑐𝑜𝑠𝜃 =
𝐴

𝐻
⎯⎯

   cos 30.2௢ =
𝑦

10
⎯⎯⎯

          0.864 =
𝑦

10
⎯⎯⎯

10 × 0.864 =
𝑦

10
⎯⎯⎯× 10

             8.64 = 𝑦
                   𝑦 = 8.64

𝑦 = 8.64

𝑏 = 𝑥 + 𝑦
𝑏 = 3.27 + 8.64
𝑏 = 11.91

B
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